N of reco track vs dxy(PV)

tracks

N of associated (recoToSim) tracks vs dxy(PV)

N of associated (recoToSim) looper tracks vs dxy(PV)

¢ 2 @
5] S <
g g g
s 5 s
£ &
=
=1
k=]
10?
i<} . o+ k=] =]
T : 3 s 3
o . 14 o o
"=25-20-15-10-5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track d>gy(PV)_(_cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
DOV original_time
S _T'I_newscoreonIyINIT time
Nof reco rackvsd ——— DOM_TT modified time o)
L 2 R 2
[5} [} [5] [}
8 8 8 g
= = H z
] 8 102 8
=
=3
k=]
10
T NI !\ [l il 44
I 22 HEERIHE EEE G HEEEH R o : EER
o \ \ i i A o . i o L 1 1 o
: |EH| TR ”E\ il : \* i :
@ R il ox : | @ i i @
I Il 1 Il 1 Il I \ N 1 T I Il 11
LT B ——— D |SEEEERERE
“=1-0. 20 0204 .8 =1-0.8-0.6-0.4-0.2 0 40.60.8 =1 —0 8-0.6-0.4-0.2 0.4 0.6 0.8 -1-0.8-0.6-0.4-0.2 0 0.20.4 0.6 0.8
track dxy(PV) (cm) 1rack dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (1ecoToSim) looper racks vs dz(PV) |
I ™ © F T I 2 ¢
Q [} [=] [}
g s g g
- o 2 L
= s 8
=
=1
k=]
L2 e e
T 3 T
o o o
=30 -20 -10 0 10 20 30 O'—?-O -20 -10 0 10 20 30 0'—".0 20 30 —(‘30 -20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper racks vs dz(PV) |
L 2 ¢
g g g
=
=]
o
, i . icasel .
A : |||I||||i|||||||| I ||| I :
14 o 14

track dz(PV) (cm)

track dz(PV) (cm)

il

track dz(PV) (cm)

=05 0 05 1
track dz(PV) (cm)




	Contents
	Page 1


